CHAPTER 14 ALTERNATE PROBLEMS

Problem 14.1A

Comparing Operating Results with Average Performance in the Industry
Kitchen, Inc., manufactures kitchen equipment.  Shown below for the current year is the income statements for the company and a common size summary for the industry in which the company operates.  (Notice that the percentages in the right-hand column are not for Kitchen, Inc., but are average percentages for the industry.)


Kitchen,
Industry


Inc.
Average


Sales (net)

$15,000,000
100
%


Cost of goods sold

    7,200,000
 58

Gross profit on sales

$  7,800,000
 42
%


Operating expenses:



Selling

$  2,400,000
10
%



General and administrative

       700,000
 26

Total operating expenses

$  3,100,000
 36
%


Operating income

$  4,700,000
6
%


Income taxes

    1,500,000
   2

Net income

$  3,200,000
   4
%


Return on assets

22%
 12
%

Instructions
a. Prepare a two-column common size income statement.  The first column should show for Kitchen, Inc. all items expressed as a percentage of net sales.  The second column should show the equivalent industry average for the data given in the problem.  The purpose of this common size statement is to compare the operating results of Kitchen, Inc. with the average for the industry.  (Round to the nearest percent.)

b. Comment specifically on differences between Kitchen, Inc. and the industry average with respect to gross profit on sales, selling expenses, general and administrative expenses, operating income, net income, and return on assets.  Suggest possible reasons for the more important disparities.

Problem 14.2A

Analysis to Identify Favorable and Unfavorable Trends

The following information was developed from the financial statements of Rapid Data, Inc.  At the beginning of 2002, the company’s former supplier went bankrupt, and the company began buying merchandise from another supplier.


2002
2001


Gross profit on sales

$980,000
$1,000,000


Income before income taxes

225,000
250,000


Net income

168,000
190,000


Net income as a percentage of net sales

6.6%
8%

Instructions

a. Compute the net sales for each year.

b. Compute the cost of goods sold in dollars and as a percentage of net sales for each year.

c. Compute operating expenses in dollar and as a percentage of net sales for each year.  (Income taxes expenses is not an operating expense.)

d. Prepare a condensed comparative income statement for 2001 and 2002.  Include the following items: net sales, cost of goods sold, gross profit, operating expenses, income before income taxes, income taxes expense, and net income.  Omit earnings per share statistics.

e. Identify the significant favorable and unfavorable trends in the performance of Rapid Data, Inc.  Comment on any unusual changes.

Problem 14.3A

Measures of Liquidity

Some of the accounts appearing in the year-end financial statements of Hot Lunch, Inc. appear below.  This list includes all of the company’s current assets and current liabilities.


Sales

$2,300,000


Accumulated depreciation: equipment

190,000


Notes payable (due in 120 days)

80,000


Retained earnings

225,000


Cash

57,000


Capital stock

200,000


Marketable securities

166,250


Accounts payable

111,300


Mortgage payable (due in 20 days)

500,000


Salaries payable

6,100


Dividends

18,000


Income taxes payable

15,200


Accounts receivable

228,000


Inventory

182,500


Unearned revenue

12,000


Unexpired insurance

6,900

Instructions

a. Prepare a schedule of the company’s current assets and current liabilities.  Select the appropriate items from the above list.

b. Compute the current ratio and the amount of working capital.  Explain how each of these measurements is computed.  State, with reasons, whether you consider the company to be in a strong or weak current position.

Problem 14.4A

Solvency of Safeway

Milk, Inc. is one of the world’s largest dairy store chains.  Shown below are selected items adapted from a recent Milk, Inc. balance sheet.  (Dollar amounts are in the millions).


Cash

$     68.8


Receivables

140.2


Merchandise inventories

1,250.0


Prepaid expenses

87.0


Fixtures and equipment

3,150.0


Retained earnings

295.0


Total current liabilities

2,100.0

Instructions

a. Using the information above, compute the amounts of Milk’s total current assets and total quick assets.

b. Compute the company’s (1) current ratio, (2) quick ratio, and (3) working capital.  (Round to two decimal places.)

c. From these computations, are you able to conclude whether Milk is a good credit risk for short-term creditors or on the brink of bankruptcy?  Explain.

d. Is there anything unusual about the operating cycle of dairy stores that would make you think that they normally would have lower current ratios than, say, large department stores?

e. What other types of information could you utilize in performing a more complete analysis of Milk’s solvency?

Problem 14.5A

Balance Sheet Measures of Liquidity and Credit Risk

A recent balance sheet of Sour as Lemon’s, Inc., included the following items, among others.  (Dollar amounts are stated in thousands.)


Cash

$  52,980


Marketable securities (short-term

61,500


Accounts receivable

27,020


Inventories

41,000


Prepaid expenses

6,250


Retained earnings

147,000


Notes payable to banks (due within one year)

25,000


Accounts payable

6,150


Dividends payable

1,500


Accrued liabilities (short-term)

22,900


Income taxes payable

7,100

The company also reported total assets of $410,500, total liabilities of $92, 500, and a return on total assets of 19.2%.

Instructions

a. Compute Sour as Lemons’: (1) quick assets, (2) current assets, and (3) current liabilities.

b. Compute Sour as Lemons’: (2) quick ratio, (2) current ratio, (3) working capital, and (4) debt ratio.  (Round to one decimal place.)

c. Discuss the company’s liquidity from the viewpoints of (1) short-term creditors, (2) long-term creditors, and (3) stockholders.

Problem 14.6A

Financial Statement Analysis

Shown below are selected data from the financial statements of Burr Stores, a retain lighting store.


From the balance sheet:


Cash

$     40,000


Accounts receivable

165,000


Inventory

215,000


Plant assets (net of accumulated depreciation)

600,000


Current liabilities

185,000


Total stockholders’ equity

400,000


Total assets

1,200,000


From the income sheet:

Net sales

$2,000,000


Cost of goods sold

1,600,000


Operating expenses

300,000


Interest expense

75,000


Income taxes expense

5,000


Net income

20,000


From the statement of cash flows:

Net cash provided by operating activities



(including interest paid of $68,000)

$     42,000


Net cash used in investing activities

(49,000)


Financing activities:



Amounts borrowed

$   60,000



Repayment of amounts borrowed

(20,000)



Dividends paid

  (25,000)


Net cash provided by financing activities

     15,000

Net increase in cash during the year

$      8,000
Instructions

a. Explain how the interest expense shown in the income statement could be $75,000, when the interest payment appearing in the statement of cash flows is only $68,000.

b. Compute the following (round to one decimal place):

1. Current ratio

2. Quick ratio

3. Working capital

4. Debt ratio

c. Comment on these measurements and evaluate Burr’s short-term debit-paying ability.

d. Compute the following ratios (assume that the year-end amounts of total assets and total stockholders’ equity also represent the average amounts throughout the year):

1. Return on assets

2. Return on equity

e. Comment on the company’s performance under these measurements.  Explain why the return on assets and return on equity are so different.

f. Discuss (1) the apparent safety of long-term creditors’ claims and (2) the prospects for Burr Stores continuing its dividend payments at the present level.

Problem 14.7A

Evaluating Short-Term Debt-Paying Ability

Listed below is the working capital information for Dillon Products, Inc., at the beginning of the year:


Cash

$290,000


Temporary investments in marketable securities

180,000


Notes receivable – current

270,000


Accounts receivable

410,000


Allowance for doubtful accounts

10,000


Inventory

380,000


Prepaid expenses

42,000


Notes payable within one year

130,000


Accounts payable

405,000


Accrued liabilities

32,000

The following transactions are completed during the year:

0. Sold on account inventory costing $97,000 at a “reduced for quick sale” price of $80,000.

1. Issued additional shares of capital stock for cash.  $700,000.

2. Sold temporary investments costing $50,000 for $41,000.

3. Acquired temporary investments, $87,000.  Paid cash.

4. Wrote off uncollectible accounts, $3,000.

5. Sold on account inventory costing $60,000 for $85,000.

6. Acquired plant and equipment for cash, $500,000.

7. Declared a cash dividend, $180,000.

8. Declared a 5% stock dividend.

9. Paid accounts payable, $83,000.

10. Purchased goods on account, $77,000.

11. Collected cash on accounts receivable, $140,000.

12. Borrowed cash from a bank by issuing a short-term note, $210,000.

Instructions

a. Compute the amount of quick assets, current assets, and current liabilities at the beginning of the year as shown by the above account balances.

b. Use the data compiled in part a to compute: (1) current ratio, (2) quick ratio, and (3) working capital.

c. Indicate the effect (Increase, Decrease, or No Effect) of each independent transaction listed above on the current ratio, quick ratio, working capital, and net cash flows from operating activities.  Use the following format (item 0 is given as an example):

	
	Effect on

	Item
	Current Ratio
	Quick Ratio
	Working Capital
	Net Cash Flows from Operating Activities

	0
	D
	I
	D
	NE


Problem 14.8A

Classified Financial Statements; Ratio Analysis

Shoemaker Department Store has advertised for an accounting student to work in its accounting department during the summer, and you have applied for the job.  To determine whether you are familiar with the content of classified financial statements, use the following data provided by the controller of Barker.  The data are derived from the store’s operations in the year ended December 31, 2001.


Available information (dollar amounts in thousands):


Net sales

$12,000


Net income

?


Current liabilities

1,900


Selling expenses

1,500


Long-term liabilities

1,800


Total assets (and total liabilities & stockholders’ equity)

7,200


Stockholders’ equity

?


Gross profit

?


Cost of goods sold

8,000


Current assets

4,300


Income taxes expense and other nonoperating items

500


Operating income

?


General and administrative expenses

1,000


Plant and equipment

2,800


Other assets

?

Instructions

a. Using the supplied data, prepare for Shoemaker Department Store a condensed:

1. Classified balance sheet at December 31, 2001.

2. Multiple-step income statement for the year ended December 31, 2001.  Show supporting computations used in determining any missing amounts.  (Note: Your financial statements should include only as much detail as these captions permit.  For example, the first asset listed in your balance sheet will be “Current assets… $4,300.)

b. Compute at year-end the company’s:

1. Current ratio.

2. Working capital.

c. Compute the company’s 2001:

1. Gross profit rate.

2. Return on total assets.  (Round to the nearest percent.)

3. Return on total stockholders’ equity.

(Note: In the last two computations, use the amounts of total assets and stockholders’ equity from your classified balance sheet as a substitute for the average amounts during the year.)

d. Assume that you get the summer job with Shoemaker Department Store.  Your first project is to compute the store’s working capital and current ratio as of June 1, 2002.  You notice that both measures differ significantly from the December 31, 2001, amounts computed in part b.  Explain why these measure may have changed so dramatically in just five months.

Problem 14.9A

Basic Ratio Analysis

Selina Corporation is engaged primarily in the business of wedding gowns.  Shown below are selected data from a recent annual report.  (Dollar amounts are stated in thousands.)


Beginning
End


of the Year
of the Year


Total current assets

$  56,000
$  97,200


Total current liabilities

67,000
85,400


Total assets

249,500
420,000


Total stockholders’ equity

132,500
215,000


Operating income


83,000


Net income


47,000

The company has long-term liabilities that bear interest at annual rates ranging from 10%-15%.

Instructions

a. Compute the company’s current ratio at (1) the beginning of the year and (2) the end of the year.  (Carry to two decimal places.)

b. Compute the company’s working capital at (1) the beginning of the year and (2) the end of the year.  (Express dollar amounts in thousands.)

c. Is the company’s short-term debt-paying ability improving or deteriorating?

d. Compute the company’s (1) return on average total assets and (2) return on average stockholders’ equity.  (Round average assets and average equity to the nearest dollar and final computations to the nearest 1%.)

e. As an equity investor, do you think that Selina’s management is utilizing the company’s resources in a reasonably efficient manner?  Explain.

Problem 14.10A

Ratios: Consider Advisability of Incurring Long-Term Debt

At the end of the year, the following information was obtained from the accounting records of Staples Systems, Inc.:


Sales (all on credit)

$3,200,000


Cost of goods sold

1,800,000


Average inventory

450,000


Average accounts receivable

400,000


Interest expense

60,000


Income taxes

90,000


Net income

250,000


Average investment in assets

2,300,000


Average stockholders’ equity

900,000

Instructions

a. From the information given, compute the following:

1. Inventory turnover

2. Accounts receivable turnover

3. Total operating expenses

4. Gross profit percentage

5. Return on average stockholders’ equity

6. Return on average assets

b. Staple’s Systems has an opportunity to obtain a long-term loan at an annual interest rate of 10% and could use this additional capital at the same rate of profitability as indicated by the given data.  Would obtaining the loan be desirable from the viewpoint of the stockholders?  Explain.

Problem 14.11A

Ratios: Evaluation of Two Companies

Shown below are selected financial data for THIS Planet, Inc. and THAT Planet, Inc., at the end of the current year:


THIS
THAT


Planet, Inc.
Planet, Inc.


Net credit sales

$ 800,000
$ 700,000


Cost of goods sold

600,000
550,000


Cash

80,000
30,000


Accounts receivable (net)

85,000
80,000


Inventory

60,000
150,000


Current liabilities

110,000
100,000

Assume that the year-end balances shown for accounts receivable and for inventory also represent the average balances of these items throughout the year.

Instructions

a. For each of the two companies, compute the following:

1. Working capital

2. Current ratio

3. Quick ratio

4. Number of times inventory turned over during the year and the average number of days required to turn over inventory (round computation to the nearest day).

5. Number of times accounts receivable turned over during the year and the average number of days required to collect accounts receivable (round computation to the nearest day).

6. Operating cycle

b. From the viewpoint of a short-term creditor, comment on the quality of each company’s working capital.  To which company would you prefer to sell $40,000 in merchandise on a 30-day open account?

Problem 14.12A

Ratios: Goodyear versus B.F. Goodrich

Jaffe, Inc. and Glazer, Inc. are two of the world’s largest fictitious manufacturers of rubber products.  Shown below are data from the companies’ recent annual reports.  (Dollar amounts are stated in thousands.)


Jaffe, Inc.
Glazer, Inc.


Total current assets

$ 4,000,000
$1,100,000


Total current liabilities

2,850,000
650,000


Total quick assets

1,950,000
480,000


Average total assets

10,200,000
2,500,000


Average stockholders’ equity

3,400,000
1,000,000


Operating income

1,250,000
300,000


Net income

680,000
120,000

Instructions

a. Compute the following for each company (round computations to one decimal place):

1. Current ratio

2. Quick ratio

3. Working capital

4. Return on average total assets

5. Return on average total stockholders’ equity

b. From the view port of a short-term creditor, which of these companies appears to have the greater short-term debit-paying ability?  Explain.

c. In which company does management appear to be using the resources under its control most efficiently?  Explain the reasons for your answer.

Problem 14.13A

Effects of Transactions on Various Ratios

Listed in the left-hand column is a series of 12 business transactions and events relating to the activities of Davidson Industries.  Opposite each transaction is listed a particular ratio used in financial analysis.

	
	Transaction
	
	Ratio

	(1) 
	Purchased inventory for cash
	
	Quick ratio

	(2) 
	A larger physical volume of goods was sold at greater unit prices
	
	Gross profit percentage

	(3) 
	Corporation declared a cash dividend
	
	Current ratio (assume ratio is greater than 1:1)

	(4) 
	An uncollectible account receivable was written off against the allowance account.
	
	Current ratio (assume ratio is greater than 1:1)

	(5) 
	Issued additional shares of common stock and used proceeds to retire long-term debt
	
	Debt ratio

	(6) 
	Paid stock dividend on common stock, in common stock
	
	Earnings per share

	(7) 
	Conversion of a portion of bonds payable into common stock (ignore income taxes)
	
	Interest coverage ratio

	(8) 
	Appropriated retained earnings
	
	Rate of return on stockholders’ equity

	(9) 
	During period of rising prices, company changed from LIFO to FIFO method of inventory pricing
	
	Inventory turnover

	(10) 
	Paid a previously declared cash dividend
	
	Debt ratio

	(11) 
	Purchased inventory on open account
	
	Current ratio (assume ratio is greater than 1:1)

	(12) 
	Issued shares of capital stock in exchange for land
	
	Debt ratio


Instructions

What effect would each transaction or event have on the ratio listed opposite to it?  That is, as a result of this event would the ratio increase, decrease, or remain unchanged?  Your answer for each of the 12 transactions should include a brief explanation.
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